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TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! EN
JERKT R X 1 219, 808, 889
HEELT = 1 12, 300, 289
AR+ T m3 290 1,437,769 | BEIK (IR 5+ 1 &N
2.5mPL 4. OmAT
T H S 1 X
+wp CEHR - ERIRY LET) ;
FEHIA (=27) 1 X
+ab 850, 000m3ATH ;
% fo% - T (1CT) m3 3, 500 2,609,990 | A (L) &+ (1CT) 1 e
T H S 1 X
+wp CEHR - ERIRY LET) ;
FEIA (=27) 1 =
+ab 850, 000m3ATH ;
RS+ T (ICT) m3 1, 800 8,189, 230 | #&EREE £ (ICT) 1 =X
T H S 1 X
+wp CEHR - ERIRY LET) ;
FEIA (=27) 1 =
+ab 850, 000m3ATH ;
BT T (ICT) = 1 63, 300 | IEmFER (B 1358) (ICT) 120 m2
EHikEE O L ;
MR B T = 1 53,921, 070
e+ T 2 1 1, 299, 372
T x 1 37,426, 698 | A7) -HiHP 56 *
(A7) -84 (A))
A/h BB KifR 1600mm E & (T E) 156m
ESWE) 4m ;
A7) - 24 N
(A7) -84k (B))
tA/h ERAFB iR 1600mm S (FTHE) 14.5
m £ (i) 12m;
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TEHEX Sy - THE - R B {7 ¥ = & F il pall 2! EN
W B R A AL 5,778 m3
(FIEIRAE (A)
YRR 7.5m Hi THUAE 1000m3PA L ;
PRI 1 X 1 15,195, 000 | PERRE,# 30 e
BERLTT = 1 23, 435, 182
e+ T 2 1 866, 582
KT X 1 22, 568, 600 | &JARAE K+ 857 m3
RETR 117 m2
R[IRAGBRERLE ;
Fetfgav ) -h 27 m
5 FEfE2)-1)
18-8-40 (&)
PiERE T 2y 1 10, 573, 570
ST T HERE T 2y 1 10, 189, 450 | ¥ Lavs)-h 180 2
18-8-40 (B JF) = 10c m ;
VAR 135 m3
WTA. LUBERE BEREDSEY)E X 2. 1561m 24~
12-25(20) (FJF) —fkag4s av)) - MR I %
i53i0) 2.23 t
SD345 D16~25 ;
i53i0) 7.74 t
SD345 D13 ;
T 1 =
— A
% 1 T
BRERy MLEE
H Hikx 2 m2
TR HEHEE B Hibkt=20 ;
IKERN 47" 2 m
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VU ¢ 150 ;
A wb i B 1L 4 #
300X 300 ;
HIAA 5 m3
J79v%7/40~0 ;
7" VA MAERE T = 1 384,120 | 187 VEyALAIHERE 29 m
15 kavy)-) 5 m
18-8-40 (&)
AN 2 1 99, 893, 779
EELT = 1 1,813,232
7 VR AN = T 2 1 97,837,000 |7 VEyAM /A 74 m
(157" VEAME y)2)
PIlE 5m P& 1.5m ;
BLay)-h 430 m2
18-8-40 (&) = 20c m
TG T £ 1 243,547 |2/7)-} 1 m3
24-12-25(20) (&JF) ;
Tl e 1 =X
— e
i53i0) 0. 06 t
SD345 D13 ;
AT H- 74 VN
M12 L=50 ;
HEKHEEY T = 1 1,658, 122
AR T = 1 1,091,796 |7 VEyANUBUHINE 111 m
(PU1-B300-H300)
k) -pusl
LT TR T = 1 566, 326 | FLEES 10 m2
HAITyv4T7/40~0 17. bemZ 48 2.20. OcmEL T ;
BLay)-h 10 m2
18-8-40 () FJE 10 c m ;
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TH4 | 06 AR LB R E B AR X 2R 1 4 R T3
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
ay))—=h 5 m3
24-12-25(20) (&¥F) ;
i53i0) 0.24 t
SD345 D16~25 ;
i53i0) 0.14 t
SD345 D13 ;
Tl e 1 X
— e
s 1 X
WLy NLEL
H Hi 2 m2
TR AHERT B i t=20 ;
JEEA R 4 1]
WA00 22 ;
VNSV N 9 m
20%20 ;
EFEET = 1 1,476,611
TA7 7 Ml T X 1 1,476,611 | TJ@EME (BE - BRI 569 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 569 m2
AR EET A2 (20) &H%EE 50mm 3. Omid ;
Bh AT L 2 1 228, 250
FRANIBA AT L 2 1 228,250 |17 =} b=y 5 m
Gr-C-2B [ ~ =7 V== ;
il L = 1 6, 126, 104
iERL=Ee 7 T = 1 6,126, 104 | HFIEHEKE 175 m
(N 477 947)
BEEEEK-DIP-PE ¢ 400 ;
KSR K 58 m
(F7KiH)

K VP_RR ¢ 100
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HEE L = 1 3,601, 839
W EE LT it 1 1,869, 427 |37 )Ml B L 28 m3
A EY) BhkE T
ERZE R LD 130 m
TA77VMEHZERR 15emPA T 5
EhAE AR AR 2,730 m2
TA7 7V MERZE R BHZENRUE 15emlA T
HEKAEE S L 2 1 604, 534 | KFIRHEKEME 175 m
(N 477 947)
BEEEEK-DIP-PE ¢ 400 ;
IR KA R 58 m
(F7KiH)
TFKAEVP-RR ¢ 100 ;
TR AL T = 1 1,127,878 |k 28 m3
av ) -bik (BER5)
o 1 137 m3
TAT 7V
By 28 m3
av ) -bik (BERR)
By 137 m3
TAT 7N
% T = 1 6,594, 073
VEZEY-N i T 2 1 1, 520, 848
T8 - s B L 2 1 1, 539, 625
KT = 1 1, 037, 600
AR IEE BT 2 1 2, 496, 000
RN X =X 1 219, 808, 889
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B R = 1 34, 361, 838
BISTIGE: = 1 12, 582, 838
TE R = 1 9,382, 000 | B ELFRAAN Sy AR T Wi 16 22 1 =
Bl ety = 1 1,253,838 |k AT — & (BT 1 X
AT e AvA HERER 1 F2V
PRSP E (ICT) 1 =
YATLRIH 2 (ICT) 1 F2
BGRESGESE (5 L) = 1 1, 947, 000
B (R = 1 21, 779, 000
T = 1 254, 170, 727
Bl gy 2 1 80, 007, 000
T =5l = 1 334, 177, 727
— R A 2 1 48, 542, 273
T =AM = 1 382, 720, 000
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